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Stat 134

1. The population of a small town is 1000 with
50% democrats. We wish to know what
is a more accurate assesment of the % of
democrats in the town, to randomly sample
with or without replacement? The sample
size 1s 10.

a with replacement
@Nithout replacement

c same accuracy with or without replace-
ment

d not enough info to answer the question

N large enough that sampling with or without replacement has
minimal effect. Also, p close to 1/2

Correction factor is (1000-10)/(999) = 0.99

The variance of hypergeometric is smaller than the variance of
binomial. Therefore, sampling without replacement will give
more accurate results.



R clunolation & D ot # dvoca v Swpe

Code & Start Over @ Solution

1 pop <- 1000

Z sample_size <- 10

3 a <- rep(@,each=pop/2)

4 b <- rep(l,each=pop/2)

5 box <- c(a,b)

© for(boolean in c(TRUE,FALSE)){

7 fun <- function(){

8 my_sample <- sample(box,size=sample_size,replace=boolean)
9 mean(my_sample)*100

10 }

11 B <- 10000

12 vec_percentages <- replicate(B,fun())
13 print(sd(vec_percentages))

14 }
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1. Which of the following can be modeled as a
Poisson Random Scatter with intensity A >
07

a J['he number of blueberries in a 3 cubic
inch blueberry muffin

. The number of patients entering a doc-
tor’s office in a 24 hour period.

)¢ The number of times a day a person feels
hungry

¥.The number of air pulses counted every
second from cars driving over an empty

rubber hose lying across a highway be-
tween noon and 1pm.

Rmore than one of the above
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